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This plot shows the hysteresis as seen on the test mass of the
reaction chain. The x axis is the input pitch, meaning the pitch
angle the test mass acquired from an input torque at the top
mass. The y axis is the angle the test mass came back to after
the input torque was removed. The arrows show the path taken
during the measurements. At maximum input the offset is 4.7%.
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This plot shows the hysteresis as seen on the test mass of the reaction chain. The x axis is the input pitch, meaning the pitch angle the test mass acquired from an input torque at the top mass. The y axis is the angle the test mass came back to after the input torque was removed. The arrows show the path taken during the measurements. At maximum input the offset is 4.7%.
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